U-48-A

ET -1
SUMMATIVE ASSESSMENT - I -2018-2019
MATHEMATICS
(English Medium)
PART-A&B
Class : VI (Max. Marks : 80) Time : 2.45 Hrs,

Tnstructions :
1. Question paper contains 2 parts (Part A & B).
2. Part-A & B should be given at the beginning of the exam only.
3. 15 minutes are allotied for reading the question paper (Part A &B) in

addition (02,30 hours for writing the answers.

4. Part-A answers should be written in a separate answer book. Write the
answers to the questions under Part-B on the question paper itself.

. There are three Sections in Part - A,

Answer all the questions.

. Every answer should be visible and legible.

There i infernal choice in Section - I1L.

Marks : 60 PART-A
Section - I
Note: 1. Answer all the Questions.
2. Each Question earries 2 Marks 4x2=8
Sl
L. Find a ratonal number btween < and
2. The numbers 257 and 5050 are not perfoct squares. Give reasons

3. "Size of the bacteria is 0.0000004m". Express the information in the standard
form.

4. Inthe year 2012, it was estimated that there were 36,4 crore intemet users
worldwide. In the next ten years, that number will be increased by 125%.
Estimate the number of internet users worldwide in 2022

(PT.0)
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Section - 11
Note: 1. Answer all the Questions.
2. Each Question carries 4 Marks Sx4=20
S 178 out of 24 students scored below 75% marks in a test. Find the ratio of
students scored below 75% marks to the students scored 75% and above:
marks.

6 Amanvalks 10 k. then travels o certain distance by train and then by bus
as fr as twice by the train. 1F the whole joumey is 0f 70 km, how far did

+ he travel by teain. :
7. Inthe figure €| m; and pis a transversal. v ,
find the value of s giving necessary
(24
teasons n

8. IfAABC = ANMO, name the congruent sides and angles,

9. Find the amount and the compound interest on ¥ 10000 at 5% per annum, for
2 years compounded amually
Section - 111
Note 1. Answer all the Questions.
2. Each Question has internal choice
3. Each Question carries 8 Marks 4x8=32
10, Two years ago the mean dge of 40 poople was 11 years. Now a person [ef the
group and the mean age I changed t0 12 years. Find the age of he person who
Teft the group.
(OR)
{ima pack,there are 5 books each ofthickness 20mm and 5 paper sheets cach
of thickness 0,016 mm. What s the total thickness of the pack ?

(PTO)
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Jyothi went t0 4 super market, The price changes are as follows. ‘The price of
vice reduced by 5%, jam and fruits reduced by 8% and ol and dal increased by
10%. Help Jyothi to find the changed prices in the given table.

Tem Original pricekg Changed price
Rice 0
Tam 120
Apples 280
ol 2150
Ddl T30
(OR)
2 i
If 5 ofa number execeds = of the same number by 36, find the ruber

Test whether the numbers 243, 516, 729, 8000 are perfect cubes or not.

(OR)

e
4
s;mphry[;l =1 by giving reasons

Construct rectangle FLLAG with sides FIL = 6em and LA = 4.2cm.
(OR)

The following table gives the disribution of 45 students across the diffrent
levelsof ineligent quotient. Dra the histogram for thedata.

[ LevelToo-70]r0-80]80-90[o0-100]100- 110[110-120]120:130 |
[

[No. of Sudens| 2 75 176 T
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SET- I
SUMMATIVE ASSESSMENT - I - 2018-2019
MATHEMATICS
(English Medium)
Class- VI
Part-B
Marks : 20
AS-1 AS-I | AS-IH | AS-1v [ AS-V [
o [1]5] |wo‘u|m<) [7]2peat[3] ]2 o] (G
] [T B R
[foal
Roll No.:
Note:

1. Answer all questions in Part - B
2. Each Question has 4 options. Write the capital letter indicating
the answer in the given brackets.

3. Marks are not awarded for over written answers.
4. Al questions earry equal marks.
s :
14, Thevalue of i dx- 5 =9 G
n 2 y - ob 0=
A5 ) 17 i 2
1s. 68, 1)
8
B -1 (VR D) 1
16, The compound ratio of 5 : 7 and inverse rato of 2: 9is [
N4l B 10:@ O 6l D) 14:45

Thevalueof JEB 4@ ()
A 2% B JilEE O 4 B 100



‘The arithmetic mean of first Xd ‘natural numbers is ( )
A) 45 B 55 Q) 4 D) 55
‘The median of the scores 14, 36, 25, 2 56,42,500 (- )
A 14 B) 32 €y 35 Dy 50

Ofthe given, Pythagorean triplet i t
Ap(h23 BG4S 0 @56 D) (5,67

The mode of first 10 natural nurbers i o
N0 Bl Qs D) does ot exist
Ofthe following, teasure of eentral tendency s (e
A) Avithmetic Mezn B) Median

) Mode D) Allthe above

Number of lines of symmetry for the letter H'is {9

Nl B) 2 Q3 D) 4
The marked price of a eycle is % 3600 and it sellng price is T 3312

then discount % is e
A) 8% B 8% O % D) 10%

“The M.P of one pa of shoes s % 550. 1f 10% discount s alowed

on, then the P of shoes is )
ATS5 B TS O - D)4

Number of integers fie between 4' and %15 G0
A4 B8 Q9 D) 10

The number (121)'is )
) Prime number B) Odd number

€) Even nurber D) Cube number

Ofthe given, which has more number of lines of symmetry [
~ Tige /A B Squre []

€) Regular Pentagon O D) Regulr Hexagon (O
(®10)
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AABC s simiar to APQR then PRis O
ANl B) 25 NG T
03 D)5 ’B
e )
Ofthe given figures, fizure having no line of symmetry is )
A : B /\ 167 ﬁ D)
Letter having one fine of symmetry is t
A X B 1 o D)o
Different letter according to the number of lines of symmetryis ()
AT B U oV D) X
Ofthe given, different figure is (T

o[ 20 /7 2O
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